Statistical Inference Homework#1
X =(X;.., X))~ 11d.f (X) = ie 9>0

= X is CSS for 6.
H,:0<6, vs. H,:0>86,.

Let T, (X)= I(C’w)()f) .

P,(X>c), 6<6, (Type | error)
P,(X<c), 8>6, (Type Il error)

Y:gx = F(n; gn~y”‘l~e‘5, (Y ~T(.6)

R, (0) ={ , (under 0-1 loss)

R (O)={] ———y"" o Y0} 10, (0)+ { =y ey}, ., (0)

cr(n) 0" T(n ) T(n)-o"

Q: Daw OC curve for n=1,5,10

P(Y <ne)={[ ———-y"" e “dy} I, ., (6)
6, =1

a =0.05

r'(n ) T(n)-6"
Set {

(=1, P,(Y <nc,) ={j0”°11-e‘;dy}~ |6, (6).

(in=5, P,(Y <nc))={[" —=—s-v" e P}l (0).

F(5)
(iii)n=10, P,(Y <nc;) = {j

“code”

pl=function(x){
pgamma(gqgamma(0.95,1,1),1,1/x)

}

p2=function(x){
pgamma(ggamma(0.95,5,1),5,1/x)

}

p3=function(x){
pgamma(gqgamma(0.95,10,1),10,1/x)

}

plot(pl, col = 3,ylim =c(0, 1),xlim =c(1, 10))#green
plot(p2, col = 234,xlim =c(1, 10),add=T)#red
plot(p3, xlim =c(1, 10),add=T)#black
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